(DBMAT31)
ASSIGNMENT-1
B.A./B.Sc. DEGREE EXAMINATION, MAY/JUNE 2025.
Third Year
MATHEMATICS III — RINGS AND LINEAR ALGEBRA
MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

Define characteristic of an integral domain. Prove that it is either zero or a prime number.
o Yol (DBF0 B0, rEBREHI DYGDoNodk. BB WAy BT (DR VoRy WHBOOER

DEITN0N0E.

The homomorphic image of a ring is a ring.

2.8 HOAV0 BWE); VNTBTIT® (D00 HIT© HOADY B0,

Show that S:{(1,2, 4), (1,0,0), (0,1,0), (0,0, 1)} is a linearly dependent subset of the

vector space V3(R) where R is a field of real numbers.
BE,G R 038 77908 Dopge By, 98, 908 S=1{(1,2,4), (1,0,0), (0,1,0), (0,0,1) | axver

DOPBHHD HI*D06.

Show that S ={ (%, 0, %] , (_?4, 0, gj ,(0,1,0) } is an orthonormal set in R?.

S :{ [g 0, %j , [_—54 0, %] ,(0,1,0) } 05098 R?S® 2.8 e9d002 D08 @ H30008.

1 0 -4 5
Find the rank of the matrix A=| 2 -1 3 0
8 1 0o -7

P D B@EK 53D EH0RTHod.

Describe the explicitly linear transformation 7:R% — R? such that 7'(1,2)=(3,0) and
T2,1)=(@1,2).

T:R® - R [©d000%20 T(1,2)=(3,0) $08c» T(2,1)=(1,2) m™ JEON wver 8IS

éégs:aobo&.
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(DBMAT31)
ASSIGNMENT-2
B.A./B.Sc. DEGREE EXAMINATION, MAY/JUNE 2025.
Third Year
MATHEMATICS III — RINGS AND LINEAR ALGEBRA
MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

State and prove Triangle inequality.

19802 VITPIB 70 [DDD0D dEITVoD 0.

1 -1 0
0 1 1

2 1 2

Find the inverse of the given matrix A =

P D0 |8% DSHI0R) E5087,06.

@ () Tf QvZ ={a+bv2/a,beQ | then show that Q(v2) is a field.
Q2 = {a+bv2/a,beQ | wond ogps @2) a8 EBo emso0sd $3008.

(i1) Prove that the rings of integers is a principal ideal ring.

DT OE HOADD (DR DE0IS HO03IH0D BTD0E.

(b) (@) State and prove fundamental theorem of homomorphism of rings.

JOOI0 BWE); VDIEIZIB D ?ozgo@“g)& DHD0d, dETVoVOE.

(i) If R is a commutative ring, a € R then Ra = { ry/T€R } is an ideal of R.
R 38 2 050753635 BoR $08a50 a € R ®owd e9pid Ra={r,/reR | &36

R B%¥); eaddgéoébg;é@ @9 EIFN0H0E.

(a) (1) If Sis a subset of a vector space V(F ), then prove that
(1) Sisasubspaceof V< L(S)=S
@  LLS)=L(S)

V(F) 98%0860°w8 S 2.8 &95908 eo0nd
(1) V &S éarohoessdn < L(S)=S

)  L(L(S))= L(S) & d50é.



(b)

(a)

(b)

(a)

(b)

(i1)

(i1)

(i1)

®

(i1)

®

(1)

If W, and W, are subspaces of a finite dimensional vector space V(F), then
prove that dim(W, + W,) = dim W, + dim W, — dim(W, n W,)

V(F) 9808 983 WOTodoerdd W, D08a5n W, &rododo eond
dim(W, + W,) = dim W, + dim W, — dim(W, N W,) e 955290508,

State and prove Rank-Nullity theorem.

§%3 BIRS ?ozgoé:éooéo DDV09, DETV0WV0E.

Show that the set {(1, 0,0) 1,1,0), (1,1,1) } is a basis of C3(C) but not a basis of
C*(R)

{@,0,0) (1,1,0), (1,1,1) } @50 908 C*(C) £ e35°8509B0089 520 C*(R) 9%

350 POl JETPN0N0E.

-2 2 -3
Find the characteristic equation and eigen valuesof | 2 1 -6
-1 -2 0

R DBE BooE); KRS DHEG N0 0BT DA DevHe EXORH0E.

-10 6 3 0 -6 -16
Prove that the matrices | -26 16 8 |and| 0 17 45 |are similar.
16 -10 -5 0 -6 -16
-10 6 3 0 -6 -16
-26 16 8 | DB | 0 17 45 | dErren @ dEITV0N0.
16 -10 -5 0 -6 -16

State and prove Cayley-Hamiltan theorem.

Bo00d-r20g S VERoBBND (HHD0D DETDOBIDY.

If A, B are matrices conformable for multiplication then prove that p(AB) < p(A)
and p(AB) < p(B).

A, B © K£5°890 @6533:6 A B0 0ND p(AB) < p(A) 208030 p(AB) < p(B)
©d dEITVoHo.

State and prove ‘Schwarz’s inequality.

§TA-egf WISTRBI0 (DHD0D DETD0HOE.

State and prove Bessel’s inequality.

BYS WIDTHB DT5H0HD DETD0H0GE.

Using Gram—Schmidt orthogonalization process V, obtain and orthonormal basis for the
vector space V = R3 (R) from the basis B= { 1,-1,2), (0,2,1), 1,2,0) }

WBFoBTTo V = R (R) BnE), 85780 B=1{(1,-1,2), (0,2,1), (1,2,0) | 200 [moo-3&

0oPES ‘;)g@:{) &IBIrRoD V 8 2.8 ©oerPoo S0 G°a)é€)>o&.
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ASSIGNMENT-1

B.A. DEGREE EXAMINATION, MAY/JUNE 2025.
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MATHEMATIC — IV : NUMERICAL ANALYSIS

MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

P.T. y2:1+i52.

=1+ % 5% 9 dEIVoHOE.

Interpolate the missing terms in the following table.

808 DZES"D §00d (9080)H0 @oBBEH0 T J*B80Hos.

x 01 2 3 4 5
y 03 8 15 — 35

Obtain the function whose first difference is 9x2 + 11x + 5.

D03 BBo 9x” + 11x + 5 1™ Ko 2.8 (AT ool

Write Sterling’s formula.

R8of) ?ozgoé:ﬁooéo @ra0d.

[oH]

State and prove Trapezoidal rule.
D0 ééocfo?)a': FOITR)) (DD V0D, DEITFN0D 0.
6 rd

EvaluateJ. dx by Simpson’s 3 rule.
0

1+ x?

dx
1+x

o?)oo§b DEOVDRDY EHIATRDIDN.

2

6
ST %:ﬁ TSR &IBIR0 I
0
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ASSIGNMENT-2

B.A. DEGREE EXAMINATION, MAY/JUNE 2025.

Third Year
MATHEMATIC — IV : NUMERICAL ANALYSIS

MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

Solve the equations 3x +y+2z=3,2x-3y-2=-3, x+2y+z=4 by matrix
inversion method.

3Bx+y+22=3,2x -3y —2=-3, x+2y+2=4 & JDEETo5 S IS0
Z)g@r‘{) GEARBIPROD DB oWROdN.

Derive Picard’s method of successive approximation and find y”.

DS FB0IBE o000 DY B BoIBTRoD " deHD §508%,08.

(@ @O

(b)

(a)

(i)

(@)

(ii)

@)

2

Prove that 1+ o2 4> =1+ 2.

2

2
Ji+o® =1+ % 9 DEIV0V 0.
Find f (2.5) using Newton’s forward formula from the following table.
x 01 2 3 4 5 6
y 0 1 16 81 256 625 1296

Q-

P DBE STEOr SR YEHDD ©0BBHED ArEER) &IBTR0D f(2.5)
DBVDRI EHOATHIDW.

State and prove Lagrange's interpolation formula.
B(of @oBBEDd TR (DHD0D, DETDoWID.
State and prove Newton’s divided difference formula.

éJgeos DB P& WPEERY) (HHD0D, DEIZDOVID.

Using Gauss forward formula, interpolate at x =22 given that
f(20) = 354,

f(25) = 332, f(30) = 291 f(35) =260 f(40) =231 f(45) =204.

f(20) = 354, f(25) = 332, f(30) =291 f(35) =260 f(40) =231
f(45) =204 @008  f(22) de0HRO Ao YEHDD W @e)) &2BIR0,
0BT N0 B0%00sk.



(b)

(il) Given the following values of x, find the value of e''

(1) State and prove Sterling’s formula.

RB0R @0y (DHD0D AETVOBIDM.

(1) State and prove Bessel’s formula.

BRG) W @ER) DELI0D DEI"D0WIDN.

" using Backward

formula.

x 100 1.06 110 115 120 125  1.30
er 27183 2.8577 3.0042 3.1582 3.4903 3.4903 3.6693
P 988 2000 €M de0d FY SFHID WrErR) &IBTRoD

EJROATHOD.

5. (a)

(b)

1 th

. . . s . , 1
Evaluate J sin x% dx correct to 4 decimals by Simpson’s 3 Simpson’s 3
0

rule taking
n = 10.
1
20D %, RIS é D@0 DBIPR0D jsin x dx O 4 $F0EH00 HEK
0

n =10 HE™D Kead Vaodk.
Employ Picard’s method to obtain y(0,1) of the equation 3—‘)} =x% + y*, given
x

that y, =0 when x, =0.
dy

_ 42 2 s _ _ [ 9 “,
PR AWEBEIBNVB ¥, =0,  x, =0 ©oIYPE D5°) 2GS

&IBIR0D ¥(0,1) devHH0 EX05%08.

(1) Find the root of the equation x log,, (x)=1.2 using Regula-Falsi
method.

xlogy, (x) =12 DESeH0DE BB LA &IBrRoD

BoTeer) 005704,

(i) Solve the following systems

S5x + 2y +z=12
x+4y+2z=15
x + 2y + 5z =20 by Gauss Seidal method.

D 00EGer BFHRR FR-VBS DY wgoe »HoBod.



b)) ©

(i1)

Using Gauss-Jordan method, Solve the system
2+ y+2=10; 3x +2y+32=18; x + 4y + 92 =16.

P PS50 FH-F'S 988 g 3Bod0d.

Find a root of the equation x® — 5x + 3 =0 to three decimal places by
using Newton’s-Raphson method.

BIgID -0 NS DYBY &DIBrR0D, 2’ — bx +3=0 DEePD SarerRy
DT BT PTOL V5800 E5EY,08.




(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

(DBSTT31)
ASSIGNMENT-1
B.A. DEGREE EXAMINATION, MAY/JUNE 2025.
Third Year
STATISTICS III — APPLIED STATISTICS
MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

Show that in SRSWOR, the sample mean square is an unbiased estimate of
population.

SRSWOR  &° $%o5vae diew DBTYo OB esdgr BE); da)8E eod e

BIrHod.

Explain the principles steps in a sample survey.

FoS WOS® ey DOPSIID DIV DHBOYDI.

Explain ANOVA one-way classification.
ANOVA bé;syg édieam IH580H08.

Explain ANOVA two-way classification.

ANOVA 8g:55°8 X)§§C5ea?60 9580%0&.

Explain the principles of experimental in design.
EHHOS® (DBIKILO BE); ABBNVOD HHBOYDW.

Explain RBD.
RBD 2 9580)d%.

Explain construction of X - chart.

X 60 dOYETRY DHBOYDD.

Explain construction of R-chart.

R — &350 @B, DTRETR)Y DHBoYHN.

Explain measures of fertility rate.

}’oowﬁsé@@ DEFO[0 DHBOYSX.

Explain construction of life tables with suitable examples.

2B IPE Bo); VOYEFRY) STTE0E DHBOYHL.



(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

(©

(d)

(e)

(®)

(g)

(h)

@)

0)

(DBSTT31)
ASSIGNMENT-2
B.A. DEGREE EXAMINATION, MAY/JUNE 2025.
Third Year
STATISTICS III — APPLIED STATISTICS
MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

Explain simple average and ratio-trend methods in seasonal variation.
SR POEFOS” Feprden Difen S8 §'EES HFBo YYD DIBoVOE.
Explain link relative method in seasonal variation.
SeerROMOED @_&')c;sagoé‘s 908 DooB% DD 9HB0YH.
Explain the criteria for a good index number.

200D 30D Doy §°RV0 (HNITETOH IHBOYDHW.
Explain the construction of index number.

DD K)ogpé DTYETR DHBOYDD.

Explain functions of C.S.O.

C.5.0 90000 DHBoYIw.

Explain organization of NSSO.

NSSO &BwE), }()o‘g@?éo DHBoYHdw.

Define sampling distribution.

(DAETD Dgresd 00 DETHOYDW.

Define ANOVA.

ANOVA 355 985009H0.

Block.

er§

P-chart uses.

P-35¢0500 &€2335°ren

Specific birth rate.

DB adTO Bew.

Time series.

5°0R0 K€M

Uses of index number.

DI K)ogpé &DABI*D

Cyclic variation.

51805 9HSeHD.

Area.

(PPOBBX.

Yield statistics.

Herosee B0d&.



(DBSTT32)
ASSIGNMENT-1
B.A. DEGREE EXAMINATION, MAY/JUNE 2025.
Third Year

STATISTICS IV — OPERATIONS RESEARCH, COMPUTER PROGRAMMING

1.

AND NUMERICAL ANALYSIS
MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

(a) Explain scope of operations Research.

(b)

(a)

(b)

DBEET (DB A Bovk); &B030 D5B0YHN.
Solve the following Assignment problem.

PO DFS TgT” A PoBID.
Machines
(cSoo@een)
I II 111 I\Y
15 14 12 16
22 25 24

31 34 32 33
D 21 32 44 53

QW >
)
w

Explain Graphical method
maES DD DHB0oYH.

Solve the following simplex method.

2o ‘bg@ 30 EIBIPR0D D BoDOAN.

Maximize z =5x; + 3x,

(r63)
S.T.C. 3x,,+bx, <15

(D8B00E S*&) ba, +2x, <10

X, %9 20



(a) Solve the game whose pay-off matrix is given by
-89 S BEK 808 3D 000 > Bowdod.

Player B
(eseoreso B)

B: B2

Player A A 6 2
(s A) Ay | 4 5

(b) Explain the concept of value of game.

€360 VNV FPPHNJY IHBoDoE.

(a) Explain the procedure of critical path method.
AN JrTRYy :ogoooofb DITHB IR dHBoHoE.
(b) Distinguish between CPM and PERT.

CPM 508082 PERT o 50655 BER0 9HBOYDW.

(a) Derive Newton’s Backward interpolation formula.

BIged BENHOD ©oBBEN @) eTBoHod.
(b) Using the information in the following table obtain the value of f(2)

s 1808 DYE 3000 f(2) HL0H0 TreyH.

x 0 1 3 4

fx) -12 0 6 12



(DBSTT32)
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B.A. DEGREE EXAMINATION, MAY/JUNE 2025.
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STATISTICS IV — OPERATIONS RESEARCH, COMPUTER PROGRAMMING
AND NUMERICAL ANALYSIS
MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

1. (a) Derive Trapezoidal Rule.

DAIO0R) béodoaw K)otﬁoéﬁfo& é@g@oé\)é\n.

1
(b) State Simpson’s rule calculate J %dx using it.
+x
0

0D DANHIR) DEFH0HD TR S+ 808 TDE® EHR"H50H0.

2. (a) Solve the following system of equation of Gauss — Seidal method.
&s 1808 ddEYerody Gauss — Seidal ‘Qg@ T°gO° PP E0WOR.

2x+2y+z=12
3x+2y+2z=8
5x+10y-8z=10

(b) Find the real root of the following equation by using regular falsi method.
& (808 VEBerR) regular falsi AFA  &IBrRoD TR Dorrerd

EROATROD.
x®—2x-5=0
3. (a) How do you enter and edit the data in MS-Excel? Explain briefly.
MS-Excel &° e enter $508050 edit e DooKoD) EIQom DHBOYDX.

(b) Explain Data Handling in Excel.

Excel &° Ger 2rod oo 9%80yH0.



(a)

(b)

(©

(d)

(e)

(®)

(g)

(h)

@)

0)

What are the models in O.R ?

0.R &Ba0g); 55700 220632

What is bounded solution?

DB DB B0 BIMIN?

Define surplus variable.

269D DT8R DEDOYHN.

Define saddle point.
FES D00V DETIOYHW.

Advantages of Network.

e558); DB,

Applications of C.P.P.

C.P.P. o?;oogb @éoégmw.

Weddle’s rule
S DAVHIDW.

Newton — Raphson method.
BIgd — BRI DY S.
@

MS — Excel.
MS - 33)S.

Define Numerical differentiation

Doy B0 DBGIOYHX.
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(DBC40)
ASSIGNMENT-1
B.A. DEGREE EXAMINATION, MAY/JUNE 2025
Third Year

Computer Applications III
REPORT GENERATOR
MAXIMUM MARKS:30

ANSWER ALL QUESTIONS

Write an overview of Excel features?
Excel 35 @wg), overview 800 granod.

How can you work with multiple worksheets?
QDS S, JBHNS® e DOV 0E?

Explain all functions used in Excel.
Excel &° ¢a&5rRoo pogpo 9980%0a.

How can you working with graphics in Excel?
Excel & o m9808® der 903 oK ?

What are the differences between Macro and Command Macro?
Macro 58050 Command Macro o soegdares 920632

Explain general organization tips and techniques.
dee8es organization tips eo 0805w 3oness 99800k,

What is the various formula operations?

DD BEDNPD P8R e8TEADY d9?

What are the various error messages occur in using functions.
DOED EIBIRODHYE DD I BES0BH €ITOT MEsSsSaAZEeS 0CCUT oo IDoe3?

What are different keys in DBMS?
DBMS &* o 99¢5 885080 key e esm8a?

How can you sort the data in Excel?
Excel &° 1o data » der sort dcsoress?
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ASSIGNMENT-2
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Computer Applications III
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MAXIMUM MARKS:30

ANSWER ALL QUESTIONS

What is the use of Find and Replace option?
Find 605 Replace option &@wg), es@rnsonos?

How can you insert rows and columns?
Sle IO 0BT dend HEWeR der INSert Joresn?

What are the advantages of workbook?
D), DBDH0 BaE); (DB D062

How can you insert the cells?

Cells o der Insert davress?

Use of Border Button.
Border Button @wy), es&@snsw.
How can you resize chart?
Chart o der resize doHxesH?
What is Excel slide show?
Excel slide show esmaa?
How can you open a form?
Form » »er open 3osores?

Define UNDO and REDO.
UNDO #s8a50 REDO » 28590%08.

What is Format painter?
Format painter esmao?
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Describe the databases and tables with the help of illustrations.
Berdhen 208050 table e sorirssne D008 9580908,

What are the three ways to create Form?
Form s 5270803 sorvcto dg#oe0 922

What is Report? How will you create it?
8258y @IMRH? T Jer create Jobinesd?

Explain various expressions that can be used in Queries.
Queries o e9@37°RoD 99¢ BEI0BDH EXPression obs 9580H0&.

How will you add graphics to button?
Button o% m98es der add Scsores?

Explain difference between linking and importing.
Linking s:8a50 Importing o8 5:¢5 d@ess 9580506.

What are the data types?
Data types ev edndao?

What is global replacement?
Global replacement esmaar?

How will you show all records after query processing?
Query @R B8 ) B dJor ShOw Sasress?

What is referential integrity?
8389 a0E R0B(RE3 @HTHN?
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Computer Applications — IV : DATA BASE APPLICATIONS

MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

Why we use expressions?
Expressions es 9os% ea@eRve80?

How can you sort access database?
Access database oo der sort dooress?
What is importing?

Importing (6/508) esmda?

Use of MS-Access.
MS-Access @»), &a@rrsw.

How will you rename a field?
Field o35 2 rename 3onr08?

How will you save a Record?
Bsreo Jer SaAVe Bores?

What is Query?
Query esmda0?
What is Macro?
Macro esmda?
What are Objects?
Objects exmda?

What is relationship?
Relationship exr3?




